Part number SP1204 Attention: Important notice prior to installation:
08-09 Subaru Impreza WRX On August 13th, 2008 Subaru of America announced Service
08-09 Subaru Impreza STi Program Campaign WVE15. Owners with 2008 WRX STI vehicles
2.5L 4 cyl affected by this campaign should contact an authorized Subaru deal-

ership for service prior to installing any after market modifications.
This service program is related to the Engine Control Module, so it is

1- One piece cold air intake important to keep your vehicle's engine speed below 6,700 RPM until

1- 2 3/4” Ea nano-fiber dry filter (#1013-BB) the service has been completed
1- 2 3/4” straight hose (#3043) ’
1- fender well heat shield (#11044)
2- Power-bands .362 .048 (#4004)
1- 18” Foam rubber trim (#6058)
1- m6 vibra-mount (#6020)
2- m6 flange nut (#6002)
1- m6 x 12mm hex head bolt (#6056)
2- Fender washer (#6010)
2- m4 x 10mm bolts (#6047)

1- 6 page instruction

Note: The C.A.R.B Exempt sticker must be attached under the hood in a manner such that it is easily viewed by an
emissions inspector.

Injen strongly recommends that this system be installed by a professional mechanic.
MR Technology, “The World’s First Tuned air Intake System!”
Factory safe air/fuel ratio’s for Optimum performance Patent# 7,359,795

“Why settle for cheap imitations when you can have the original”
Note: Testing on a dynamometer will take 7 to 8 pulls before seeing significant horsepower gains. If you are conducting
dyno testing, you should know that the ECU will store fuel trim and timing calibration of the Injen intakes. Before testing
alternative intakes, return car to stock base lines for accuracy. Important: Do not disconnect any battery terminals
while testing! For best results, Injen recommends testing be done on a one to one basis, stock vs. Injen Cold Air Intakes.
If you have modified your vehicle in anyway, you will not see significant horsepower gains on top of any modifications.

ﬁﬁq\ . B v e
2@

Figure 2



The first plastic screw flange is removed from the
front air scoop.

The elec
mass air flow sensor.

L8 TN |
trical harness clip is disconnected from the

Once you have removed the latches and loosened
the clamp on the air inlet tube, continue to pull upper

air box from the lower air box cleaner.

b -

The second plastic screw flange is remo
air scoop.

The metal screws are removed from the mass air
flow sensor as shown above.

tube. Remove the upper air box cleaner and air duct

from the engine compartment.

Once both plastic screws have been removed, contin-
ue to pull the factory air scoop out of the engine com-
partment.

-
Figdre 8
Once you have removed both screws, continue to
pull the mass air flow sensor from the sensor
housing.

The metal latches attached to the upper air box
cleaner is detached from the lower air box cleaner.

the lower air box cleaner to the stock vibra-mount.



y o - ;

Loosen and remove the second 10mm bolt located Omm bolts, contin-

behind the air box cleaner. ue to pull the lower air box cleaner out of the engine  will come out in one unit.
compartment.

SR - - &3

The air box cleaner and air intake duct is now pulled The stock vibra-mount is also removed from the

out of the engine compartment. bracket on the fender wall. tube, two power bands are placed over the hose.
The clamp over the air inlet tube is tightened.

’ L
The 2 3/4” straight hose is pressed over the air inlet Cut the 18" vinyl trim into two strips, one at 13" and Press the 5” strip along the panel with the shorter

tube, two power bands are placed over the hose. the other to 5”. Press the 13" strip along the lower radius.
The clamp over the air inlet tube is tightened. edge of the heat shield as shown above.

5” strip

18" strip

Figure 24 Figure 25, t,lj Figure 26

The vinyl trim is now installed. The intake is aligned and inserted into heat shield The intake is now lowered into the heat shield as
opening. shown above.



_ Figure ™29 » $ _
Once the filter has been pressed on to the intake, The assembled intake and heat shield are lowered
continue to tighten the filter neck clamp. into the engine compartment.

Figure 32 Y=

h il . o
i = WFioiea gy Yoo
The filter is lowered into the bumper opening while Shot of the heat shield step aligned to the lower The heat shield holes are inserted over the fender
the heat shield is aligned to the fender well and the frame. well studs and the stock bracket is re-attached.

lower frame.

M - = i
The stock air box bracket is aligned to the two studs.  The stock nuts are used to attached the bracket to The new vibra-mount, mé flange nut and fender
the new heat shield. washer are fastened to the bracket. Note: fender
washer is not shown above, place the fender washer
behind the bracket then use the mé6 flange nut.

The outlet end of the air intake is inserted into the
the vibra-mount. straight hose located on the air inlet tube.

An open end wrench is used to tighten the nut over



The m6 flange nut and fender washer is used to fas-
ten the intake bracket to the vibra-mount stud.

>

gure 42 -,
Once the intake has been properly aligned, continue  The heat shield bolt hole on the step side is lined up An allen wrench is used to tighten the bolt on the
to semi-tighten the power clamp. to the pre-tapped hole in the frame. Use the m6 x heat shield.

12mm bolt in the kit to secure the heat shield.

3 Figure 46 : 3 ,
The mass air flow sensor is carefully inserted into the  The stock screws are used to fasten the mass air An allen wrench is used to tighten the stock screws
machined sensor flange. Use a dab of light oil flow sensor to the machined sensor adapter. on the mass air flow sensor.
around the O-ring to prevent it from kinking or tear-
ing.

Figure A9 S :

The electrical harness is firmly connected on the mass air flow sensor.

snaps in place.



Figure 51

Congratulations! You have just completed the installation of the best cold air Coming soon, the SES1204FMGT- Large front mount intercooler with a
intake on the market. Periodically, check the fitment of the intake, normal wear replacement bumper support and intercooler piping.

and tear on the engine may cause shifting of the intake system that may

cause damage to the intake.

S Figure

The SES1204FMGT comes with the upper intercooler piping. Injen Technology, will soon be releasing the most aggressive axle-back sys-
tem on the market. While adding 16 H/P to your STi, this system features the
first 4" quad titanium tips with rolled edge that adds strength. The tips come
with classic burnt blue process on the end of the tips that will make you the
envy of the road.

ly ¥

1. Upon completion of the installation, reconnect the negative battery terminal before you start the engine.

2. Align the entire intake system for the best possible fit. Once the intake has been properly fitted continue
to tighten all nuts, bolts and clamps.

3. Periodically, recheck the alignment of the intake system and make sure there is proper clearance around
and along the length of the intake. Failure to follow proper maintenance procedures may cause
damage to the intake and will void the warranty.

4. Start the engine and listen carefully for any odd noises, rattles and/or air leaks prior to taking it for a test
drive. If any problems arise go back and check the vacuum lines, hoses and clamps that maybe causing
leaks or rattles and correct the problem.

5. Check the filter for excessive dirt build up. Clean or replace the filter with an original Injen filter.
Congratulations! You have just completed the installation of the best
intake system sold on the market. Enjoy the added power and performance of your new intake system.

AIR INTAKES CAR ACCESSORIES


http://www.carid.com/
http://www.carid.com/air-intakes.html

